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10 BAHAIH 2 A3 1,365 4,004 £2,729
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01 JI1EFR=0I & 650,000 1,000,000 A 350,000
O&ZEZ 302 XN= 650,000
cQAEAAM 5,000& * 20,00004 100,000
cdoHRAA 10,0002 * 40,0000H 400,000
oA 50,000& * 3,0000H 150,000
NEZ2H gdst =8 39,480 44,420 A4,940
202 044l 6,480 11,420 A4,940
01 SLHA bl 6,480 11,420 A4,940
OXNGZHedst g2
81,000& * 4% * 2 x 63| 3,888
OXNEZH g2=&
81,000& * 29 * 2 * 83| 2,592
203 YR =&ld| 10,000 10,000 0
03 Al =X H 2 =&Y 10,000 10,000 0
OXNEZH 4t =& 10,000
307 2I2tol A 23,000 23,000 0
03 AMFRIEHIEX= 23,000 23,000 0
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OUMUXIZS 2 ALLA ZHTANE
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202 44l 1,944 3,093 21,149
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